


Mohit bought a house for Rs.
64,000, promising to pay after 1.5
years with an interest at the rate of

”)00 5% per annum compounded half
l6(/\'_) ‘{0 yearly. Find the interest paid after

one and a half years.
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Sides AB and AC of AABC are
produced to points D and E,

respectively. The bisectors of ZCBD
and /BCE meet at P. If ZA = 78°,
then the measure of /P is:

AABC &1 HuIlU AB 3R AC &I HHI:
fdfg D 3R E a@ dem™T Wdr 2 |
/CBD 3R /BCE & fgureis fdg P
R fiad 21 afe £A = 78° @, dl 4P

&1 919 fhaar 87
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(c) 55° (d) 56° D(W



A cyclic quadrilateral ABCD is drawn
in a circle with centre O. A and C

are joined to O. If ZABC = 2p and
ZADC = 3p, what is the measure (in
degrees) of the ZAOC reflex?

Udh ddhI dqHo ABCD &% O drd
g H ©idr §rdr 21 A 3R € @l O
d fremar Smar 21 afe zABC = 2p
3R £ADC = 3p ®, dl £AOC wfaadi
mﬂw(ﬁm"rﬁ)w%‘??

MHM/\:( (a) 200 (b) 245
‘*’g\ré{ Dilg) 210 \ {41216




The cost price of 15 apples is e‘gual

CP—"M 2 .11%% é_ selling price of 10 apples and
<P = he 4liscount on 12 apples is equal

SP +5 to the profit on 4 apples. What is
] the percentage point difference
D — )‘r between the profit percentage and

_E_ R discount percentage?
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' fasha o0 & SEx ? IR 12 99 W)

@W' BT 4 49l R @M & §RE% = | o™
yfarera 3R 8e ufawa @ &g ufaer«
(,io ammamwﬁzﬂ4® -

(c) 30 (d) 20



The average weight of X, Y and Z is
S50 kg. The average weight of X and
Y is 44.5 kg and the average weight

e S

of Y and Z is 53.5 kg. If the weights

;) Y and Z are p, q and r,
‘S é ectwely, then the value nfcéi—@),

\\16 correct to two decimal places, is

S

X, Y 3R Z &1 39d dud 50
feenium 21 X 3R Y &1 3itad 9o
44.5 feeium™ B 3R Y 3R Z &I
ad 9+ 53.5 feaiam™ 8| afe X,

Y 3R Z &1 4R $HUI: p, q AR r T,
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In a circle with centre O, AC and BD
are two chords. AC and BD meet at
E, when produced. If AB is a
diameter and ZAEB = 36°, then the

measure of ZDOC is:

O &% dld Ud g H, AC 3R BD <l
419 & | AC 3R BD fig E R fiad
g uid S d¢lIl WMl 8| If¢ AB
T & 3R ZAEB = 36° &, dl ZDOC
&I AT AT 87

(a) 112° (b) 124° @
(c) 136°  \_4d) 108°



If 8 + 15k - 2 O, then the
g+ e
po value of lE:+E is:
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Y i A pendulum strikes 6 times in 4

2 <€ seconds and another pendulum

p— G

'_7,} strikes 8 times in S secnnds If both
(

@Z (M endulums start s at the

HcF same time, how many clear strikes

| R I _gzc iSQQ can be listened in one minute?
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Suresh makes a profit of Rs. 1,250 if
he sells a certain number of
facemasks at the price of Rs. 2.50
per mask and incurs a loss of Rs.

150 if he sells the same number of
or Rs. 2.25 per , the

/lfl'lﬁ M Mkt max ost price of both being the same.

How many face maaks does Suresh

W have? V%ﬁm\
[T 1,250 YA BT A HACT 2 |
S600 /_\ Ife a8 e MR 9@ 4 oaars
[S© 12.60 gl e 2.50 IR B PHET W

E IF d9dr =, dl 99 150 ¥YF HT JHAMH
Pl SR grar 2 afy 98 sah & @@ ¥ uf
Ifd 2.25 U4 $I HIFd G d9dl

i (b) 5800 5 | 24 @1 @ Y GHIF = | R
(c) 6200 (d) 5400 3 g fHast B9 9 27




If x -
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How many small solid spheres each
of 5 mm radius can be made out of a
metallic solid cone whose base has
radius 21 cm and height 30 cm?

21 9 IR B AR 30 9
%Al didd U H1g & ol @ 4 5
firfy fBrsar 9 feaq i oig Ma

90 OIT 9bd 2 ?
(a) 32000 (b]264§9//ff##

(c) 25000 (d) 18260
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A train covers a certain distance at
an average speed of 120 km/h
without any stoppages. While
returning the same journey the

4 train covers the distance at an
—) 20 WAL average speed of 80 km/h with

QB’ 3 stoppages. What is the average
stoppage time per hour taken by the
train?

Ud ¢ faqr v» 120 fed /ger &)
itea wfa 4 ua fil¥@a <@ a3
$dl 2 | S =1 ) dled 9HI 2|
vhd g0 80 f&Hl /ger o aitwa wfa
4 gdl 99 &xcdl 2 | ¢ g1 ufa °9¢
#f 20 minutes (d) 24 minutes o\ &1 atag way AT 27

(a) 30 minutes (b) 32 minutes



( boys take 15 days to complete a
work which can be completed by 6

mens in }J@ days.)15 mens started
M-—-:.: g / working and after 2 days, 10 men’s
left and 10 boys joined them. How

many days will the take to

8
0 10 dSHl B UH S qRT &R | 15

1o fes1 o 2 o 6 e 10 o= #
- qRT &Y GHd 2 | 15 ATH BH B
@ I® Hd B IR 2 feaf @ 919, 10
el 9 W 2 3R 10 dsd Id

BY16/3 g1 gz ot ¥ AW IRl B @
) 10/3 T 7 S fpaq faq ata?



If the 9-digit Jumber 7x79251y8 is
divisible by 36. What is the value of

(10x2 - 3y?2) for the largest possible
value of y?

Ife 9 JdHlI DI G&AT 7x79251y8, 36
9 favrsy 2, @ y @ 3ifSradayw garfag
a9 & fou (10x2 - 3y2) &1 HMH
fora=m gim?

/{93 (b) 289 4P |42
192 (d) 490



A cylindrical vessel of diameter 32
cm is partially filled with water. A
solid metallic sphere of radius 12
cm is dropped into it. What will be

the increase in the level of water in
the vessel (in cm)?

32 Ml AT T Th S-ITHR gd-
mﬁlﬁwﬁqﬁﬁﬁwéllzﬁrﬁ
oA &1 e o1 91 &1 Tl 39d
STl OiTdT 21 g9 & Ul @ WX A
fea-t gfg zrft (|4 9)?

(a) 2.25 b9
(c) 72 (d) 27



Arun bought an old computer and
spent Rs. 110 on its repalrs/
iﬁ then sold it to Bhola at a profit of
Ywar'\u 20%. Bhola sold it to Chandan at a
loss of 10%. Chandan finally sold it

for Rs. 1,188 at a profit of 10%. How
much did Arun buy the computer

- for?
]0\90 e 3P0 1 Yb YRMHET dYex @XIEl IR

S I¥Hd UR 110 U wd fHhu |
A\ fihy SO 39 T B 20% D oA

wR 49 fear) Wear 3 9 dgd Bl
10% &I BIA 9 d€9 fear| dga A

M 890 (b) Rs. 640 3(dd: $H 10% & o9 WX 1,188 ¥Ud

7 49 fear| e 4 YR fhad o
(c) Rs. 1,050 (d)Rs. 750 __ .-
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A goat is tied with a 10.5 m-long
rope to one corner of a plot which is
in the shape of an equilateral
triangle each side of which is 16 m

’ L long. Find the area that the goat can

graze on.
Uh @S d Ud HId H dbd Bl
10.5 Hiex odl =t | «rem AT 2,

Gl U gHarg e @ IR # @,
fora! yd® Hom 16 Hiex ol 2 |

d8 &9%md od difve, forgd o

L\ i ofigen

(c) 62.25 A W) 53.5 m?



In AABC, D is a point on side BC

such that ZADC = ZBAC. If CA = 12
cm, CD = 8 cm, then CB (incm) = ?

AABC #, D, BC W (% fdg © ¥
f6 ~ADC = /BAC 7| Ifec CA = 12
| - 9, cD = 8 91, ¥ CB TN =:

(318 (b) 15

g

y 0 T @)
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13,__%{: f?_gs gﬁ'e four distinct numbers
and the HCF of each pair of numbers
(13, a); (13, b); (13, c) is 13, where a,
b, ¢ are each less than 60 and a < b

;26—]— GL < ¢. What is the value of a+c?
= 2 13, a, b, ¢ TR AT HE&IT &
31 IR @Rl @ udAd oie (13, a);
(13, b); (13, ¢c) DI HzdH HH19dd &
Q_\'\' 13 2, Wigl a, b, ¢c ¥ADH 60 § HH 2

R a<b<ctl a;"mqﬁﬁﬁm

G
=3 lay2 (b) 5

(c) 4.5 (d) 3.5



The ratio of the number of hens to

the number of goats on farm A is S :

4 and that on farm B is 5 : 7. What

could be the ratio of the total

UV\I W number of hens to the total number
goats in farms A and B taken

A"’" > — S'S‘Sg'/ ' together?
9 <SS/ \IBE.A 7 ARTAT @) e &1 aeiar

\dﬁﬁ@ﬁﬂms:4§@?m
B")_’S__Hlﬂ“/ BH Jg IAUId 5 : 7 81 B A AR

B 4 fiamesy qifal &1 g
L O @mwﬁ?ﬁ b &l ¥

JJuTd FT BI? /.
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(c) 3:2 (d)7:11
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The average of S numbers,
arranged in a row, is 309. The
average of the first two of these
numbers is 431 and the average of

the last two of these numbers is
231.5. What is the value of the

number at the center of the row?

Uh Ufh A gaRerd 5 G&IRI @I
ad 309 =1 SH ¥ Ugell <l
G &7 Iad 431 2 31X 5949 4
Jifaw <1 =g &1 Iud 231.5 2 |
gRp @& € @ T&AT BT °IFT RT 27

(a) 52 {5;7550

(c) 321 (d) 108



. If 22%°-33y°= (V2x =3y) (Ax* -

Bxy + Cy2), then the value of (A2 + B2
+ C?) is:

afe 2(2x°-3/3y>= (V2x «\3y) (Ax? -
Bxy + Cy?), Tl (A2 + B2 + C?) &:

(a) 11 19

(c) 16 (d) 18



(a) 10
(c) 12

|2
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In triangle ABC, AB = 10 cm, AC =
12 cm, on AB, point D is taken so

that BD = &6 em and CD
perpendicular to AB, DE is drawn

perpendicular to AC, cutting AC in E
so that quadrilateral BCED has 2/ _§_

?3—|2area of the triangle ABC. Then CE is
NY (in cm)

C

P

(d) 8 Grar 2, @t cE (@ #) 21

39S ABC #, AB = 10 |}, AC = 12
41, AB ur fdg D ferar war 8 arfe
BD = 5 9#] 3R CD, AB W &iqdd &I,
DEEIﬁAC‘II?EfWEﬁ?ITGITQ, AC

E ¥ &Il WY difé aqg¥sl BCED
s ABC & &@3%d &1 2/3 =,






